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® Endianncss

Consider some value OxOPOBROCOD stord ot addess o....
There o two ways to Shee His 4 bytc walue
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Consider some oddeess Ox ARBBCC OO bthot we
wish % access n wewory. The memocy Unit
will only €fechehh the Yop 30 bits of Hvis addeess.
This wmeans  that to memory our effective oddcess
‘S the 330 bit velve Ox 2AAEF337.

Note #that memo Olways retuens the 4 byk
woed €rom a feferenced effective addrss.

B Weite Masks

The provided wenory s byte level wede enabled.
This mecans thet our wrike erobk s o 4-bit
Signal wherc eoch bi* cotesponds fo one
byte in the oddressed word.

Say we have Some addcess a  which containg
Ox 00206304 ond we wish 0 welke Some
Nnow valve Ox AARBBCCOD. The ‘ollowina_
exawples Show e efects of some diffeent
write enables

OﬁQiM‘:
| o] o3 |02 ]ol

Q Ot atl a*3

Wen = 4'bINIIL:

[pp]CC AA
a at| a¥d ar3

Wen S "’b‘ooo :

o4ylo AA
a at|l ard ar3

Wen= 49’bOII1OG:

Loy [cc |88 (o]

0 at| atd o+l

This may scem con"us’m:l_ at €irsk glance , but Can be
Simplifcd to: i bik 1of Wen s 2, write byte

of Din ‘ato the th byte of dhe word n Memady at
oddcess a. Rewember Hat rcgardless of your ongmal
oddecss, the cfrecchive oddess Wwill be  woed al'lqm.d'-

@ Valid Leads /stores

The crule €for loods ovd stoces s as Collows:

Ary request where the requested  Section does not
breow W bouvd‘wy of o Conﬂsuoug H-byte word in
memocy 1S valid.

But whrat docs Wat mn? Consider some oddeass
o, ond Some coostey SO coi\biv\;v\} a. We can
fepeesent byks ‘m gemon, 03 boxes) and requests as
ovedsys. We draws o red line to wokk e boundany
between cContigquous werds. Am, request winere Whe
ovecloy box docs not break e ced line s valid.

Below o some examples of HA(S, you are.  ENCOUrOgad
fo boild on phese, examples o deteemine wret &
vekd €oec caeh load/Store ype -
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